
A1

The sun is ________ in the sky.

Answer: ___________________

The wind is ________ outside.

Answer: ___________________

It is ________ heavily.

Answer: ___________________

We need to ________ our umbrellas.

Answer: ___________________

The flowers are ________ in the garden.

Answer: ___________________

The clouds are ________.

Answer: ___________________

The snow is ________ on the ground.

Answer: ___________________

The rain is ________.

Answer: ___________________

The temperature is ________.

Answer: ___________________

It is ________ in the afternoon.

Answer: ___________________



Answers

The sun is ________ in the sky.

Answer: shining

The wind is ________ outside.

Answer: blowing

It is ________ heavily.

Answer: raining

We need to ________ our umbrellas.

Answer: bring

The flowers are ________ in the garden.

Answer: blooming

The clouds are ________.

Answer: gathering

The snow is ________ on the ground.

Answer: falling

The rain is ________.

Answer: falling

The temperature is ________.

Answer: changing

It is ________ in the afternoon.

Answer: sunny


